Multiply and Divide by Positive Powers of Ten (B)

Find each product or quotient.

0.1 x10 = 2.347 - 100 =
7.578 X 100 = 8.581 - 100 =
6.8 = 1,000 = 98 x 10 =
1.73 +10 = 2.269 - 10 =
1.5+ 1,000 = 477 X 10 =
6.13 x 1,000 = 2.9 +100=
2.598 X 100 = 6.98 + 1,000 =
6.541 - 10 = 5.005 x 100 =
7.8+10= 7.112 x 100 =
7.17 - 100 = 3.792 - 10 =
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altiply and Divide by Positive Powers of Ten (B) Answe

Find each product or quotient.

0.1x10=1 2.347 + 100 = 0.02347
7.578 x 100 =757.8 8.581 + 100 = 0.08581
6.8 = 1,000 = 0.0068 9.8 x10=098
1.73+10=0.173 2.269 - 10=10.2269
1.5+ 1,000 =0.0015 477 X 10 =47.7

6.13 x 1,000 = 6,130 2.9 +100=0.029
2.598 x 100 = 259.8 6.98 +~ 1,000 = 0.00698
6.541 - 10 = 0.6541 5.005 x 100 = 500.5
7.8+10=0.78 7.112 X 100 = 711.2
7.17 +100=0.0717 3.792 +10=0.3792
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